Format for Advertisement in Website

Notice for appointment of Regular / Rural Retail Outlet Dealerships

Hindustan Petroleum Corporation Limited proposes to appoint Retail Outlet dealers in Assam, as per following details:

SI. No	Name of location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site*				Finance to arranged applicant Lakhs)	by the	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs. In Lakhs)	Security Deposit (Rs. In Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
					SC	CC / DC / CFS								
					SC CC-1									
					SC CC-2									
					SC PH									
					ST						Estim ated			
					ST CC-1					Estimat ed	fund			
					ST CC-2				capital Area require	working	requir ed for			
			Regular / Rural	MS+HSD in Kls	ST PH		Frontage	Depth		require opme	devel opme	Draw of Lots / Bidding		
					OBC					for	nt of infras	-		
					OBC CC-1					operatio n of RO	tructu re at			
					OBC CC-2						RO			
					OBC PH									
					OPEN									
					OPEN CC-1									
					OPEN CC-2									
					OPEN PH									
1	On "Mushalpur - Nikashi" Road withing 2 KM from "Belguri Chwok" towards Nikashi Bazaar	BAKSA	Regular	100	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
2	Within 5 kms on eitherside of Assam Gramin Bank,Goreswar Town Branch	BAKSA	Regular	110	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
3	On Mushulpur Tamulpur Road in between Mushulpur Town and Barbari Chowk	BAKSA	Regular	100	OBC	DC	30	30	900	25	45	Draw of Lots	15	4
4	On Rangia-Tamulpur Road in between Dwarkuchi high school and SUB Public health centre	BAKSA	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5

					1								1	
5	Between Basbari Primary School and Lashit ME School	BAKSA	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
6	Barpeta Town to Sundaridia Post Office	BARPETA	Regular	100	OBC PH	DC	40	40	1600	25	45	Draw of Lots	15	4
7	On Barpeta Road From Simlaguri Police Point to Electricity Office	BARPETA	Regular	150	OBC	DC	25	25	625	25	45	Draw of Lots	15	4
8	Barpeta Medical College to Jania Bazaar	BARPETA	Regular	150	OPEN PH	СС	35	35	1225	25	10	Bidding	30	5
9	Barpeta Town Metuakuchi college Road	BARPETA	Regular	170	OPEN	СС	25	25	625	25	10	Bidding	30	5
10	On NH 31 from Tihu Chowk to Patarcharkuchi on LHS	BARPETA	Regular	210	OBC	DC	45	45	2025	25	75	Draw of Lots	15	4
11	Between Bhawanipur Chowk and Kohara Chowk under Bhawanipur Development Block under Sarupeta Circle on NH27 (New No.)	BARPETA	Regular	200	OPEN	сс	45	45	2025	25	10	Bidding	30	5
12	Sorbhog Town	BARPETA	Regular	100	OPEN CC 1	DC	25	25	625	25	45	Draw of Lots	15	5
13	Kumarpara Chowk to Shiv Mandir towards Bahari on LHS	BARPETA	Rural	70	OPEN	DC	30	35	1050	12	30	Draw of Lots	5	4
14	Gahia To Hahchora Chowk	BARPETA	Rural	60	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
15	Pithadi Bazaar to H C College, Boktardoba	BARPETA	Rural	60	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
16	Chenga Chowk to Bohori Bazar	BARPETA	Rural	80	OBC CC 1	DC	30	35	1050	12	30	Draw of Lots	5	3
17	Hajo-Daulasal Bheela Primary Health centre to Rakhol Dubi Than	BARPETA	Rural	60	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
18	Biswanath Chariali Town By Pass	BISWANATH	Regular	150	OPEN	DC	40	45	1800	25	75	Draw of Lots	15	5
19	Between Kolabari Tinali and Sangmora market on NH 52	BISWANATH	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
20	Within 4KM from IOCL Petrol Pump "M/s Bhularam Shankar Prasad" towards North Lakhimpur	BISWANATH	Regular	150	OPEN	DC	40	45	1800	25	75	Draw of Lots	15	5
21	Within 5KM on Either Side of IOCL Petrol Pump "M/s Sundaram Mahadeo, Gomeri" On NH-15(New No)	BISWANATH	Regular	150	OPEN	DC	40	45	1800	25	75	Draw of Lots	15	5
22	Bongaigoan Town Bir Chilarai Path between Shahid Bedi and Borpara Bus Stand	BONGAIGAON	Regular	150	OPEN CC 1	сс	26	21	546	25	10	Bidding	30	5
23	ON SH-2 from Bongaigoan to north Salamara between Majgoan Kisan Seva Kendra IOCL Pump to BHAKHALGAON Primary School	BONGAIGAON	Regular	100	ST PH	CFS	30	35	1050	0	0	Draw of Lots	0	3
24	On Dharmapur-borghola road between Abhayapuri Bus Stand and Abhayapuri Jail	BONGAIGAON	Regular	110	OBC	DC	30	30	900	25	45	Draw of Lots	15	4
25	On Abhayapuri to lengtisinga road between Dumuria Piknapara to Lengtisinga Bazaar	BONGAIGAON	Regular	100	SC	CFS	30	35	1050	0	0	Draw of Lots	0	3
26	Within Bongaigaon Town limit	BONGAIGAON	Regular	150	OBC	DC	26	30	780	25	45	Draw of Lots	15	4
27	On Dolaigoan road from Bengtol gate to dolaigaon daily market within Bongaigaon District	BONGAIGAON	Rural	60	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
28	From Ganesh Mandir to Bhowlaguri on dhaligoan- NewBongaigoan Railway Station Road	BONGAIGAON	Rural	60	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
29	FROM BARAK RIVER BRIDGE TO HILARA RAIL GATE ON NH-6	CACHAR	Regular	150	OBC	DC	45	45	2025	25	75	Draw of Lots	15	4
30	FROM CACHAR PAPER MILL MAIN GATE, PANCHGRAM TO SIDDHESHWAR SHIVA TEMPLE ON NH-6	CACHAR	Regular	150	OBC	DC	45	45	2025	25	75	Draw of Lots	15	4
31	ON NH-37 (NEW NO) WITHIN 6KM TO 9.5KM FROM BPCL PETROL PUMP "M/S MAA DURGA FILLING STATION " TOWARDS IMPHAL	CACHAR	Regular	150	OPEN	сс	40	45	1800	25	10	Bidding	30	5
32	BETWEEN KM STONE 280 TO KM STONE 299 ON EAST WEST CORRIDOR ON LHS TOWARDS INCREASING CHAINAGE	CACHAR	Regular	220	OPEN	сс	45	45	2025	25	10	Bidding	30	5

	BETWEEN KM STONE 280 TO KM STONE 299 ON EAST													
33	WEST CORRIDOR ON RHS TOWARDS INCREASING CHAINAGE	CACHAR	Regular	220	OPEN	DC	45	45	2025	25	75	Draw of Lots	15	5
34	BETWEEN PANGRAM DIGIR PAR TO JUNCTION OF AIRPORT ROAD AND EAST WEST CORRIDOR	CACHAR	Regular	150	OPEN	сс	35	35	1225	25	10	Bidding	30	5
35	BETWEEN TARAPUR BRIDGE TO MAIN GATE OF MASIMPUR MILITARY STATION ON NH37/ breAK IN SALCHAPRA POLICE OUTPOST	CACHAR	Regular	150	OPEN	DC	45	45	2025	25	75	Draw of Lots	15	5
36	BETWEEN TRIBENI FILLING STATION (IOCL PETROL PUMP) AND CHOUDHURY SERVICE STATION (IOCL PETROL PUMP)	CACHAR	Regular	150	OPEN	DC	35	35	1225	25	45	Draw of Lots	15	5
37	FROM HILARA RAIL GATE TO JUNCTION OF NH-6 AND "KALAIN-SILCHAR ROAD"	CACHAR	Regular	150	OPEN	СС	45	45	2025	25	10	Bidding	30	5
38	ON "SILCHAR-KALAIN" ROAD BETWEEN JUNCTION OF NH-6 AND KALAIN ROAD AT TARAPUR TO "UNITED BANK OF INDIA, SHIBBARI ROAD BRANCH"	CACHAR	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
39	ON NH-306 BETWEEN "CHARKISA BABA MUKAM" TO JUNCTION OF SONAI ROAD AND NH-306	CACHAR	Regular	150	OPEN	DC	45	45	2025	25	75	Draw of Lots	15	5
40	SILCHAR MEDICAL COLLAGE TO "ASSAM UNIVERSITY MAIN GATE" ON SH-39	CACHAR	Regular	100	OPEN	сс	35	35	1225	25	10	Bidding	30	5
41	Between Sonaimukh Post Office to Barohali Jame Masid	CACHAR	Regular	120	OPEN	DC	25	25	625	25	45	Draw of Lots	15	5
42	Within 2KM On Either Side of Sapekhati Chariali On NH- 702 (New No.)	CHARAIDEO	Regular	153	OBC	сс	35	45	1575	25	10	Bidding	30	4
43	Within 5KM from Railway Flyover towards Amteka On Bijni-Amteka Road	CHIRANG	Rural	60	ST	CFS	30	35	1050	0	0	Draw of Lots	0	2
44	Starting from NH 31C kajalgaon Bengtol road, within 2 KM from Kajalgaon	CHIRANG	Rural	100	ST	CFS	30	35	1050	0	0	Draw of Lots	0	2
45	From Aie river Hagrama bridge to CHAPAGURI CHARIALI	CHIRANG	Rural	100	OPEN	DC	30	35	1050	12	30	Draw of Lots	5	4
46	On NH 15 from Bezara to Sipajhar	DARRANG	Regular	200	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
47	Mangaldoi town on Mangaldoi-Tangla Road	DARRANG	Regular	200	SC	CFS	26	20	520	0	0	Draw of Lots	0	3
48	On Mangaldoi Bhutiachang road within 4 KM from NH15 JUNCTION	DARRANG	Regular	100	OBC	DC	30	35	1050	25	60	Draw of Lots	15	4
49	Sipajhar To Mangaldoi on NH 52	DARRANG	Regular	200	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
50	Dhanshree ghat to Orang on NH 15, Gelabil	DARRANG	Regular	150	SC PH	CFS	40	45	1800	0	0	Draw of Lots	0	3
51	Ghorabandha to rupai chowk	DARRANG	Rural	60	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
52	From NH-15 (New No.) and SH-22 Junction (Telijan Tini Ali, Dhemaji) TO Sri Sri Sinnamasta Than on SH-22 (Dhemaji-Machkhowa Road)	DHEMAJI	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
53	From NH-15 (New No.) JUNCTION TO Gogamukh Collage On Gogamukh-Dhakuakhana Road (SH-22)	DHEMAJI	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
54	Jonai Fransalian High School to Jonai Jubilee Model High school on NH 515 (New No.)	DHEMAJI	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
55	On "Dhemaji Station Road" within Dhemaji Town Minucipality Limit	DHEMAJI	Regular	100	OPEN	сс	35	35	1225	25	10	Bidding	30	5
56	With 10KM From Junction of NH-15(New No.) and NH- 515(New No.) at Kulajan towards Simen Chapori On NH- 515 (New No.)	DHEMAJI	Regular	150	OPEN	DC	40	45	1800	25	75	Draw of Lots	15	5
57	Jonai Bazar Not on National Highway	DHEMAJI	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
58	Between Ghilaguri and Moridhal College on NH-15	DHEMAJI	Regular	200	OPEN	DC	40	45	1800	25	75	Draw of Lots	15	5
59	From NH-15(New No.) and NH-515(New No.) Junction at Kulajan TO Bagibeel Bridge On NH-15 (New No.) going from Dhemaji to Dibrugarh	DHEMAJI	Regular	150	OBC	DC	40	45	1800	25	75	Draw of Lots	15	4

60	Between Golakganj chari ali and Bir chirlarai bridge on NH 17	DHUBRI	Regular	150	OBC	СС	35	45	1575	25	10	Bidding	30	4
61	Between Biratnagar Chariali and railway bridge towards Gauripur on NH 37	DHUBRI	Regular	150	SC	CFS	45	45	2025	0	0	Draw of Lots	0	3
62	Bilasipara Town within Town Limits	DHUBRI	Regular	200	OPEN	DC	21	26	546	25	60	Draw of Lots	15	5
63	On Dibrugarh Bypass Road from Junction of "Mancota Road) Towards Tinsukia, on LHS while going towards Tinsukia	DIBRUGARH	Regular	150	OBC	сс	40	45	1800	25	10	Bidding	30	4
64	From NH-15(New No.) and NH-2 (New No.) Junction TO Bagibeel Bridge On NH-15(New No.)	DIBRUGARH	Regular	150	OPEN	СС	40	45	1800	25	10	Bidding	30	5
65	On Dibrugarh Bypass Road from Junction of "Mancota Road) Towards Moran, on LHS while going towards Moran	DIBRUGARH	Regular	150	OPEN	DC	40	45	1800	25	75	Draw of Lots	15	5
66	Graham Bazar Tinali TO Naliapool on AT Road Dibrugarh	DIBRUGARH	Regular	100	OBC	DC	35	35	1225	25	45	Draw of Lots	15	4
67	From Sonowali Path No.1 TO Khanikar Chariali ON Mancota Road Dibrugarh	DIBRUGARH	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
68	APL Gate TO IOCL Petrol Pump "M/s Namrup Transport Services" at Namrup on Dodhar Ali/NH-702(New No)	DIBRUGARH	Regular	150	OPEN	DC	40	45	1800	25	75	Draw of Lots	15	5
69	Between lepetkata Janajati L.P. School and Rameswar Higher Secondary School on NH37(old no.)	DIBRUGARH	Regular	150	OPEN	DC	40	45	1800	25	75	Draw of Lots	15	5
70	Within 3 KM from Sepon Chakalia towards Sivasagar on NH 37	DIBRUGARH	Regular	150	OPEN	DC	35	45	1575	25	60	Draw of Lots	15	5
71	Within 2KM on either side of "Rajgargh Tinali" On "Moran-Naharkatia Road"/SH-27	DIBRUGARH	Regular	100	OBC	DC	30	35	1050	25	60	Draw of Lots	15	4
72	From "State Bank of Indai, Namrup Branch" TO "United Bank Of India, Namrup Branch" On "Namrup-Rangswal Road" at Namrup	DIBRUGARH	Rural	105	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
73	Lahowal (Bashbari gaon to Miripothar Gaon AT Road) NOT ON NH	DIBRUGARH	Rural	60	OPEN	DC	25	25	625	12	30	Draw of Lots	5	4
74	Within 3 KM from Tingkhong on "Tingkhong-Namrup Road"	DIBRUGARH	Rural	90	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
75	Within 4KM on Either side from junction of NH-27(New No) and NH-627(New No) on NH-27 (New No)	DIMA HASAO	Regular	150	ST	CFS	40	45	1800	0	0	Draw of Lots	0	3
76	ON NH-27, WITHIN 4 KM FROM MANDERDISA POLICE STATION ON LHS TOWARDS SICHAR	DIMA HASAO	Regular	170	OPEN	СС	40	45	1800	25	10	Bidding	30	5
77	Goalpara Town	GOALPARA	Regular	100	OBC	СС	26	30	780	25	10	Bidding	30	4
78	Dhupdhara to Rongjuli on NH 37	GOALPARA	Regular	160	OPEN	DC	45	45	2025	25	75	Draw of Lots	15	5
79	Dudhoni Chariali within 5 km towards Daranggiri on NH 37	GOALPARA	Regular	150	ST	CFS	25	25	625	0	0	Draw of Lots	0	3
80	Bogan bagan to ambari Tin ali towards Goalpara	GOALPARA	Rural	60	OPEN	DC	30	35	1050	12	30	Draw of Lots	5	4
81	Jaipur bazar to Khumuja Bazar	GOALPARA	Rural	80	OPEN	DC	30	35	1050	12	30	Draw of Lots	5	4
82	Similitola To NAGARBERA	GOALPARA	Rural	60	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
83	SIMITOLA WIHTIN 5 KMS ON SIMILITOLA TO MATIA TOWARDS MATIA NOT ON NH / SH	GOALPARA	Rural	80	ST CC 1	CFS	30	35	1050	0	0	Draw of Lots	0	2
84	Numaligarh Tin Ali TO Dergaon on NH-715(New No.) On RHS while going from Nagaon to Jorhat	GOLAGHAT	Regular	150	SC	CFS	40	45	1800	0	0	Draw of Lots	0	3
85	Between Rangajan Jatiya Vidyalaya and Rangajan Ashram on LHS from Golaghat to Dimapur on NH 129(New NH no)	GOLAGHAT	Regular	150	OPEN	DC	35	45	1575	25	45	Draw of Lots	15	5
86	From Kamargaon TO Golaghat Town on Dhodar Ali SH-1 (Not in Golhaghat Municipality)	GOLAGHAT	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
87	From Arengapara Chariali TO "Kumarpatty Road" On "Balijan-Oating-Garigaon Road"	GOLAGHAT	Regular	105	OBC	DC	30	30	900	25	45	Draw of Lots	15	4

88	Within 2KM on either side of BPCL Petrol Pump "M/s Sindhu Oil" On "Barpathar-Jamuguri-Golaghat Road"	GOLAGHAT	Rural	90	ST	CFS	30	35	1050	0	0	Draw of Lots	0	2
89	Within 2KM on either side of IOCL Petrol Pum "M/s Samudra Filling Station" at Naojan on "Naojan- Bokajanghat Road"	GOLAGHAT	Rural	100	sc	CFS	30	35	1050	0	0	Draw of Lots	0	2
90	Arengapara Chariali Golaghat TO Kacharihat Tini Ali On Golaghat By Pass Road via Dhansiri Water Tank	GOLAGHAT	Rural	100	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
91	Withn 2.5 KM From IOC Petrol Pump "M/s Uddipta Auto Service" on "Barpathar Road" at Barpathar towards Jamuguri	GOLAGHAT	Rural	90	OPEN	DC	30	35	1050	12	30	Draw of Lots	5	4
92	Within 2KM on either side of IOCL Petrol Pum "M/s Ananta Filling Station" on "Uriamghat Ghat Road"	GOLAGHAT	Rural	90	OPEN	DC	30	35	1050	12	30	Draw of Lots	5	4
93	ON HAILAKANDI BYPASS	HAILAKANDI	Regular	160	OBC	DC	45	45	2025	25	75	Draw of Lots	15	4
94	ON KATLICHERRA BYPASS NH-154(NEW NO) FROM "RONGPUR SAMABAI SAMITI LTD." TO "SULTANAI BAGAN"	HAILAKANDI	Regular	160	OPEN	DC	45	45	2025	25	75	Draw of Lots	15	5
95	"STATE BANK OF INADIA, LALABAZAR" TO JUNCTION OF SILCHAR ROAD AND NH-6, ON SILCHAR ROAD	HAILAKANDI	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
96	ON MISSION ROAD HAILAKANDI	HAILAKANDI	Rural	80	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
97	WITHIN 3KM FROM RAILWAY CROSSING ON HAILAKANDI-SILCHAR ROAD TOWARDS SILCHAR	HAILAKANDI	Rural	80	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
98	From From NH-27(New No.) and "Udali Bazar Road" Junction TO Udali Tin Ali Bazar On NH-27(New No.)	HOJAI	Regular	150	OPEN	сс	40	45	1800	25	10	Bidding	30	5
99	From HPCL Petrol Pump "M/s Swapan Service Station" TO IOCL Petrol Pump "M/s Sunita Auto Service" On NH- 27(New No.) on RHS while going from Nagaon to Lumding	HOJAI	Regular	150	OPEN	DC	40	45	1800	25	75	Draw of Lots	15	5
100	From Junction of NH-27 (New No) and SH-19 at Nilbagan TO "Axis Bank at Hojai" Town on SH-19	HOJAI	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
101	AMBARI BAZAAR TO HOWRAGHAT MARKET TOWARDS DIPHU ON RHS	HOJAI	Rural	90	ST	CFS	30	30	900	0	0	Draw of Lots	0	2
102	Bhogdoi Bridge TO Jorhat Bypass on AT Road Jorhat Town	JORHAT	Regular	105	OPEN	DC	30	30	900	25	45	Draw of Lots	15	5
103	Bhugdoi Tiniali To Jorhat Bypaas on Nimati Road in Jorhat Town	JORHAT	Regular	120	OPEN	DC	30	30	900	25	45	Draw of Lots	15	5
104	From Borholla Chariali Bus Stop TO Barhola Tin Ali (Near Borholla Police Station)	JORHAT	Regular	100	OPEN	DC	30	30	900	25	60	Draw of Lots	15	5
105	From KB Road TO AT Road Via Soanri Gaon NO. 1	JORHAT	Regular	100	OPEN	DC	25	25	625	25	45	Draw of Lots	15	5
106	From UCO Bank at Titabar Near Titabar Chariali To IOCL Petrol Pump"M/s RBC & Agencies-Mariani) on Dhodar Ali (SH-1)	JORHAT	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
107	Gitarthi Tiniali TO Jorhat Medical College on Jail Road, Jorhat Town	JORHAT	Regular	100	OPEN	DC	20	25	500	25	45	Draw of Lots	15	5
108	Jorhat Town, From "Tulasi Narayan Sharmah Path" TO Junction with NH-715(New No) Via "Malow Ali Shiv Mandir".	JORHAT	Regular	100	OPEN	DC	21	25	525	25	45	Draw of Lots	15	5
109	Titabar Tin Ali TO Titabar Chari Ali on Dhodar Ali (SH-1)	JORHAT	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
110	Titabar Na Ali to Railway Gate at Titabar on Na Ali (SH- 32)	JORHAT	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
111	From "Sukapha Samannay Kshetra" TO "Hotel Earl Grey" Jorhat on NH-715(New No.), On RHS while going from Dergaon to Jorhat	JORHAT	Regular	150	OBC CC 1	DC	40	45	1800	25	75	Draw of Lots	15	4
112	From "Jorhat Medical Collage Gate" towards Jorhat Airport on "KB Road" Within Jorhat Municipality Limit	JORHAT	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
113	From "Sales Tax Office, Jorhat" TO Jorhat Engineering Collage on "Garmur Road/JEC Road"	JORHAT	Regular	130	OPEN	DC	30	30	900	25	45	Draw of Lots	15	5

114	WIHIN 5 KMS FROM Titabar Chari Ali On "Cinamara- Titabar" Road TOWARDS CINNAMORA	JORHAT	Rural	95	OPEN CC 1	DC	35	35	1225	12	30	Draw of Lots	5	4
115	Bhaihata Chariali to Muktapur	KAMRUP	Regular	100	OPEN CC 1	DC	30	35	1050	25	60	Draw of Lots	15	5
116	Amingaon Chalk TO IOCL Petrol Pump "M/s Luit Service Station" On NH-427(Barpeta-Hajo-Guwahati Road)	KAMRUP	Regular	200	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
117	Rangia Town	KAMRUP	Regular	150	OBC CC 1	СС	35	35	1225	25	10	Bidding	30	4
118	Between Tarani and tamalpur on NH 127 on Rangia- Tamulpur Road	KAMRUP	Regular	300	OPEN	DC	45	45	2025	25	75	Draw of Lots	15	5
119	Guwahati Sub divisional market commitee (Bijoynagar) to Rampur Aanchalik College	KAMRUP	Regular	200	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
120	On NH 31 from Changsari Rail gate to Bhaihata Chari Ali on LHS	KAMRUP	Regular	210	OBC	DC	45	45	2025	25	75	Draw of Lots	15	4
121	On NH37 Between Kukumara to Bamunimaidan	KAMRUP	Regular	190	SC	CFS	45	45	2025	0	0	Draw of Lots	0	3
122	Chhaygaon College to Lampara Aanchalik Highschool	KAMRUP	Regular	200	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
123	On NH 31 from Changsari Rail gate to Bhaihata Chari Ali on either side	KAMRUP	Regular	150	OBC	DC	45	45	2025	25	60	Draw of Lots	15	4
124	Rangia SDO Office to Muktapur Chariali	KAMRUP	Rural	90	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
125	Mandakata High school to Baka chawk on Amingoan- north guwahati Bezera road Madakata High School to Rangmahal on Amingaon - north Guwahati Bezera Road	KAMRUP	Rural	100	sc	CFS	30	35	1050	0	0	Draw of Lots	0	2
126	Kalotoli Bazaar To Purangaon Chari ali	KAMRUP	Rural	60	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
127	Towards Dimo Mile Stone No 15 to Mile Stone No 16 on RHS on Dimo-Rangia Road	KAMRUP	Rural	80	OPEN	DC	30	35	1050	12	30	Draw of Lots	5	4
128	Within 2KM from Mirza chowk towards Chandubi	KAMRUP	Rural	100	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
129	Ganeshguri to Games Village on Bhetapara Road	KAMRUP METROPOLITAN	Regular	150	OPEN	DC	26	20	520	25	60	Draw of Lots	15	5
130	From Khanapara to Lokhra Chariali on LHS on NH 37	KAMRUP METROPOLITAN	Regular	210	OPEN CC 2	DC	35	35	1225	25	60	Draw of Lots	15	5
131	From Lokhra Chariali to BPCL Petrol Pump(Raj Energy Station) on RHS	KAMRUP METROPOLITAN	Regular	160	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
132	Narengi to Painikhaiti	KAMRUP METROPOLITAN	Regular	100	OBC CC 1	DC	25	25	625	25	60	Draw of Lots	15	4
133	Within 2 KM from Bhetapara Charali towards Hockey stadium	KAMRUP METROPOLITAN	Regular	150	OBC	DC	25	25	625	25	60	Draw of Lots	15	4
134	On Kahilipara Road From Lal Ganesh to Ganesh Mandir	KAMRUP METROPOLITAN	Regular	200	OPEN	СС	25	26	650	25	10	Bidding	30	5
135	From Jalukbari to Lokhra Chariali on NH 37 on LHS	KAMRUP METROPOLITAN	Regular	300	OPEN CC 1	СС	35	35	1225	25	10	Bidding	30	5
136	On PNGB road(boragoan) from NH 27 to railway township gate	KAMRUP METROPOLITAN	Regular	150	OBC PH	DC	25	25	625	25	60	Draw of Lots	15	4
137	Howraghat Tiniali to Howraghat Police Station on Howraghat Road NOT ON NH	KARBI ANGLONG	Regular	100	ST CC 1	CFS	25	25	625	0	0	Draw of Lots	0	3
138	On TV Centre Road Between Diphu Civil Hospital to Kendriya Vidyalay Diphu	KARBI ANGLONG	Regular	110	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
139	NH-329(New No.)/ Diphu Manja Road Within Diphu Municipality Limit	KARBI ANGLONG	Regular	150	OPEN	СС	35	45	1575	25	10	Bidding	30	5
140	Within 3KM from "Rongpharpi Rongbe Monument" towards Dimapur On "Lumding Dimapur Road"/SH-36	KARBI ANGLONG	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
141	Assam University Diphu Campus to State Bank of India at "Diphu Lumding Road"/ NH-329	KARBI ANGLONG	Regular	150	ST	CFS	40	45	1800	0	0	Draw of Lots	0	3
142	Within 2 Kms on either side of Manja Tiniali on NH	KARBI ANGLONG	Regular	150	OPEN CC 2	DC	40	45	1800	25	75	Draw of Lots	15	5

143	Langhin tiniali to Langhin Bazaar on NH29 (New No)	KARBI ANGLONG	Regular	150	ST	CFS	40	45	1800	0	0	Draw of Lots	0	3
144	Kozhimala Post office to Dengaon Sports Association Playground on NH29 (New No.)	KARBI ANGLONG	Regular	150	ST	CFS	40	45	1800	0	0	Draw of Lots	0	3
145	FROM SUTARKHANDI BORDER MARKET TO KARIMGANJ DISTRICT TOWN IDGAH ON "KARIMGANJ-SYLHET ROAD"	KARIMGANJ	Regular	160	OBC	DC	45	45	2025	25	75	Draw of Lots	15	4
146	BETWEEN SENCO FILLING STATION (IOCL PETROL PUMP) TO MUBARAKPUR PRIMARY SCHOOL	KARIMGANJ	Regular	170	OPEN	DC	35	35	1225	25	45	Draw of Lots	15	5
147	NILAM BAZAR POLICE STATION TO MULLAGANGJ POST OFFICE ON NH-8	KARIMGANJ	Regular	160	OPEN	DC	45	45	2025	25	75	Draw of Lots	15	5
148	ON NH-37, FROM M/S LAKSHMI NARAYAN ENERGY POINT(BPCL PETROL PUMP) TO START OF KARIMGANJ BYPASS	KARIMGANJ	Regular	160	OPEN	DC	45	45	2025	25	75	Draw of Lots	15	5
149	ON PATHARKANDI BYPASS NH-6(NEW NO.) FROM KANABAZAR TO "MODEL HIGHER SECONDARY SCHOOL, MONDOMALA"	KARIMGANJ	Regular	160	OPEN	DC	45	45	2025	25	75	Draw of Lots	15	5
150	RAMKRISHNA NAGAR, BETWEEN KADAMTALA TIN ALI TO HARINAGAR MADHYA BANGLA BIDYALAYA	KARIMGANJ	Rural	100	OPEN	DC	30	35	1050	12	30	Draw of Lots	5	4
151	From Habrubari Tinali To Bodoland Transport Bus Stand on RNB Road	KOKRAJHAR	Regular	100	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
152	From "Charles Darwin School, Ramfalbil" TO Patgaon on NH-27 (New No.)	KOKRAJHAR	Regular	150	ST	CFS	45	45	2025	0	0	Draw of Lots	0	3
153	ON NH 31C between Maditi River Bridge to St. Anthany school bypass, on RHS from Srirampur toward Bongaigaon	KOKRAJHAR	Regular	200	SC	CFS	45	45	2025	0	0	Draw of Lots	0	3
154	Between Binyakhata ME & LP School and 2 No. Bhawraguri Bazaar Veterinary Centre	KOKRAJHAR	Regular	200	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
155	Within 2KM From "Dalanguri LP School, Dotma" Fakiragram	KOKRAJHAR	Rural	90	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
156	From "Bhatarmari LP School" TO "Chandrapara Market" On Kokrajhar- Serfanguri Road	KOKRAJHAR	Rural	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
157	On Serfenguri to Fakirgram road between Dotma Primary Health Centre to Thuiribari Chymdrapara M V School	KOKRAJHAR	Rural	100	OPEN	DC	30	35	1050	12	30	Draw of Lots	5	4
158	Between Nowboicha Higher Secondary School and Shanti Sangha on NH 15	LAKHIMPUR	Regular	100	OPEN	DC	35	45	1575	25	45	Draw of Lots	15	5
159	Between Bhugpur Chariali and Railway Overbridge on NH 15	LAKHIMPUR	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
160	Between Lohit Dikrong Higher Secondary School and Shiv Mandir Bihpuria	LAKHIMPUR	Regular	100	OPEN	DC	25	25	625	25	45	Draw of Lots	15	5
161	On "North Lakhimpur ByPass Road" from Junction of "BFCC Road" Towards Laluk	LAKHIMPUR	Regular	150	OPEN	сс	40	45	1800	25	10	Bidding	30	5
162	Bongalmara To Laluk on SH-43	LAKHIMPUR	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
163	North Lakhimpur Town on NT Road from DC Court to "Konwar Gaon Road"	LAKHIMPUR	Regular	100	ST	CFS	21	25	525	0	0	Draw of Lots	0	3
164	Between Harmoti Railway Over Bridge & Dubi Tiniali on NH 15	LAKHIMPUR	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
165	Within Lakhimpur Town Municipality limit	LAKHIMPUR	Regular	100	OPEN	DC	25	25	625	25	45	Draw of Lots	15	5
166	On "North Lakhimpur ByPass Road" from Junction of "Saboti Road" Towards Dhemaji	LAKHIMPUR	Regular	150	OPEN	DC	40	45	1800	25	75	Draw of Lots	15	5
167	Ghilamora Tin Ali TO Jalbhari Dimaruguria Tin Ali on Dhakuakhana Road	LAKHIMPUR	Rural	60	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
168	Garmur to Phulani Chariali On Jengraimukh Road/SH-21	MAJULI	Regular	100	ST	CFS	30	35	1050	0	0	Draw of Lots	0	3
169	FROM GARMUR TO KAMALABARI On SH-21	MAJULI	Regular	100	OBC	DC	30	35	1050	25	60	Draw of Lots	15	4
170	From JagiRoad Police Station to Progessive FertiChem	MORIGAON	Regular	150	OBC	DC	45	45	2025	25	75	Draw of Lots	15	4

		1		1	1	1						1	I	· · · · · · ·
171	Jagiroad WITHIN 5 KMS ON LHS ON JAGIROAD - Morigoan ROAD TOWARDS MORIGAON	MORIGAON	Regular	100	SC CC 1	CFS	30	35	1050	0	0	Draw of Lots	0	3
172	Morigoan Town	MORIGAON	Regular	100	OBC	DC	30	30	900	25	45	Draw of Lots	15	4
173	From Jaluguti to Barapujia on Morigaon-Raha Road	MORIGAON	Regular	100	SC	CFS	30	35	1050	0	0	Draw of Lots	0	3
174	MAIRABARI TINIALI TO NAGABANDHA BAZAAR ON MAIRABARI - MORIGAON ROAD	MORIGAON	Rural	80	OPEN CC 1	DC	30	35	1050	12	30	Draw of Lots	5	4
175	From Chandrapur to Mikirbheta on Chandrapur to Barangabari Road	MORIGAON	Rural	60	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
176	From telahi to Dandua on Dandua-Dharamtul Road	MORIGAON	Rural	85	OPEN	DC	30	35	1050	12	30	Draw of Lots	5	4
177	Within 2KM on Either Side from "Dakhinpat Chariali" On "Nagaon-Kampur Road"/SH-18	NAGAON	Regular	100	OPEN CC 1	DC	30	35	1050	25	60	Draw of Lots	15	5
178	Kaliabor Tiniali to BPCL Petrol Pump "M/s NES Jakhalabandha" on NH-715 (New No)	NAGAON	Regular	150	OBC	DC	40	45	1800	25	75	Draw of Lots	15	4
179	Within 5 Km from BPCL Petrol Pump "M/s Sadique Service Station" on LHS toward Guwahati on NH 27 (new no.)	NAGAON	Regular	150	OPEN	DC	40	45	1800	25	75	Draw of Lots	15	5
180	Kaliabor Tiniali TO Kolia Bhomora Bridge on NH- 715(New No)	NAGAON	Regular	150	OPEN	DC	40	45	1800	25	75	Draw of Lots	15	5
181	On "Nagaon-Dhing Road" within Nagaon Town Municipality Limit	NAGAON	Regular	100	OPEN	DC	30	30	900	25	45	Draw of Lots	15	5
182	From NH-27(New No.) and NH-127(New No.) Junction, Nagaon Bypass TO Badal Gaon. On LHS while going from Nagaon to Lumding on NH-27 (New No.)	NAGAON	Regular	150	OPEN	DC	40	45	1800	25	75	Draw of Lots	15	5
183	Jamuguri Chariali TO Gosaibari On Nagaon Marigaon Road	NAGAON	Rural	85	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
184	On NH 31 at Ghagrapar Between Bilpar and Jajiybari	NALBARI	Regular	150	ST	CFS	45	45	2025	0	0	Draw of Lots	0	3
185	Bara Masjid Chowk To Pramila Fuel (BPC Petrol Pump)	NALBARI	Regular	150	OPEN	DC	35	35	1225	25	45	Draw of Lots	15	5
186	From Ghograpar to Tamulpur PWD Road AFTER 2km from nh-27 Junction	NALBARI	Rural	80	OPEN CC 2	DC	30	35	1050	12	30	Draw of Lots	5	4
187	Within 4KM on Either side of "State Bank Of India, Mathurapur Branch" on Dhodar Ali Road/NH-702C	SIBSAGAR	Regular	150	OBC	DC	40	45	1800	25	75	Draw of Lots	15	4
188	From "Shiva Dol" TO "Dikhow River"	SIBSAGAR	Regular	100	OBC	DC	30	30	900	25	45	Draw of Lots	15	4
189	From Demow Traffic Police Point TO IOCL Petrol Pump "M/s RR & Co. Pvt. LtdMoran) on NH-2 (New No.) On LHS while going from Sibsagar to Dibrugarh	SIBSAGAR	Regular	160	OBC	DC	40	45	1800	25	75	Draw of Lots	15	4
190	United Bnak of India, Demow Branch to Demow Adarsh Hospital Hospita on Demow Netai Pukhuri Road	SIBSAGAR	Regular	140	OBC	сс	35	40	1400	25	10	Bidding	30	4
191	Ghoramari Bazar TO Balipara Chariali on NH-15 (New No.)	SONITPUR	Regular	150	OPEN	DC	40	45	1800	25	75	Draw of Lots	15	5
192	From "Balipara Chariali" TO "Khonamukh" on NH- 15(New No)	SONITPUR	Regular	150	OPEN	DC	40	45	1800	25	75	Draw of Lots	15	5
193	From Kolia Bhomora Bridge TO Dolabari Chariali on NH- 715 (New No)	SONITPUR	Regular	150	OBC	DC	40	45	1800	25	75	Draw of Lots	15	4
194	ASTC workshop Tezpur to Mahabhairab TempleTezpur, on Mahabhairab Parua Road	SONITPUR	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
195	Nikamul Chariali, Majgaon TO Mission Chariali on NH- 715 (New No.)	SONITPUR	Regular	150	OBC	DC	40	45	1800	25	75	Draw of Lots	15	4
196	Between Milestone 132 to Milestone 135 on NH 15 on LHS from Dekiajuli To Tezpur	SONITPUR	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
197	Between Balipara and Khonamukh on NH-15 (New No.)	SONITPUR	Regular	155	OPEN	DC	40	45	1800	25	75	Draw of Lots	15	5
198	From Nikamul Chariali, Majgaon TO Shiv Temple On "Tezpur University Road"	SONITPUR	Rural	100	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
199	Dolabari Chariali TO Panch Mile Post Office On "Dolabari Panchmile Namap Road"	SONITPUR	Rural	100	OPEN	DC	40	40	1600	12	30	Draw of Lots	5	4

200	From Panchmile "State Bank Of India CSP" TO Napam Daily Market On "Panchmile Napam Road"	SONITPUR	Rural	100	OPEN	DC	40	40	1600	12	30	Draw of Lots	5	4
201	On NH-315 (New No) From State Bank Of India (Digboi Branch) To NH-315 & NH-215(Digboi-Pengeri Road) junction	TINSUKIA	Regular	150	OBC	DC	40	45	1800	25	75	Draw of Lots	15	4
202	On "Makum By Pass Road" from Junction of "Boguri- Ukonimuria" towards Dibrugarh	TINSUKIA	Regular	165	OBC	DC	40	45	1800	25	75	Draw of Lots	15	4
203	Within 3KM from the Junction of "Makum Bypass Road" and "Rangagora Road" towards Tinsukia Town on "Rangagora Road"	TINSUKIA	Regular	100	OPEN	DC	30	30	900	25	45	Draw of Lots	15	5
204	From "Coal India Road" & "Margherita-Ledo Road" Junction TO United Bank of India on Margherita-Ledo Road (NH-315 New No.)	TINSUKIA	Regular	150	OPEN CC 1	DC	40	45	1800	25	75	Draw of Lots	15	5
205	On "Makum By Pass Road" from Junction of "Gelapukhuri Road" towards Doom Dooma	TINSUKIA	Regular	165	OPEN	DC	40	45	1800	25	75	Draw of Lots	15	5
206	On GNB Road Within Tinsukia Town Municipality	TINSUKIA	Regular	100	OPEN CC 1	DC	25	25	625	25	45	Draw of Lots	15	5
207	Thana Chariali TO IOCL Petrol Pump "M/s Assam Fuel Centre" On "Rangagora Road"	TINSUKIA	Regular	100	OBC	DC	25	25	625	25	45	Draw of Lots	15	4
208	Within 3 KM of on either side of BPCL Petrol Pump "M/s Aruna Filling Station" On "Tinsukia-Duliajan Road"/NH- 315A(New No)	TINSUKIA	Regular	150	OPEN	DC	40	45	1800	25	75	Draw of Lots	15	5
209	Sarba Siksha Abhiyan Mission, Udalguri office to Barnagoan High School, Udalguri-Kalaigoan road via Barnagoan	UDALGURI	Rural	90	ST	CFS	30	35	1050	0	0	Draw of Lots	0	2
210	Within 2KM on either side of "Dongkamukam Chariali" at Dongkamukam on SH-19	WEST KARBI ANGLONG	Regular	100	ST	CFS	30	35	1050	0	0	Draw of Lots	0	3
211	Within 2Kms from Baithalangso Police Station towards Kampur on "Kampur -Baithalanso" Road	WEST KARBI ANGLONG	Regular	100	ST CC 1	CFS	25	25	625	0	0	Draw of Lots	0	3
212	Hamren District Jail to Hamren Police Station	WEST KARBI ANGLONG	Regular	100	ST	CFS	25	25	625	0	0	Draw of Lots	0	3

Volumes indicated are based on market conditions and may undergo change. Applicants are advised to make their own assessment of potential.

* The site should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant should have firm offer for the same.

The explanation of the columns in the table is given in the Brochure which also contains detailed guidelines of selection procedure for dealership along with Application form and other relevant details. The Brochure is available at a cost of Rs. 100/- from the Corporation addresses Offices at the mentioned below. lt is also hosted in the Corporation Website (www.bharatpetroleum.in/www.hindustanpetroleum.com/www.iocl.com/www.petrolpumpdealerchayan.in) and can be downloaded free of cost.

APPLICANTS, IN THEIR OWN INTEREST, SHOULD CAREFULLY GO THROUGH THE "BROCHURE" AND UNDERSTAND CONDITIONS OF SELECTION BEFORE SUBMITTING THEIR APPLICATION.

Application for RO dealership along with online payment of Non-refundable application fee, as applicable (detailed below), should be submitted on-line by 24/12/2018.

Type of RO	Type of Site	Category	Application fee in Rs.	Type of RO	Type of Site	Category	Application fee in Rs.
Regular	CFS	SC/ST	3000		CFS	SC/ST	2500
ROs	СС	OBC	5000	Rural ROs	СС	OBC	4000
	СС	Open	10000		СС	Open	8000
	DC	OBC	5000		DC	OBC	4000
	DC	Open	10000		DC	Open	8000

The facility for submission of on-line application will be withdrawn immediately after the cut-off date as mentioned above.

The tenure of the dealership shall be for an initial period of <u>10</u> years and renewable every <u>10</u> years thereafter.

This is only a notice inviting application for allotment of RO dealership and not an offer of RO dealership.

The Corporation reserves the right to cancel/withdraw/ amend this advertisement or extend the due date at its sole discretion without assigning any reason.

In case of any discrepancy in advertisement published in English Newspapers vis a vis vernacular dailies, the direction/information indicated in English paper would prevail. Similarly, contents of Brochure in English will be final and will prevail upon in case of any dispute.

For purchase of Brochure and any information with regard to the advertisement, candidates may contact the following address:-

Hindustan Petroleum Corporation Limited (A Government of India Enterprise) Second Floor, Janapath, H.D. Complex, G S Road, Ulubari, Guwahati – 781007 Contact no.: 0361 – 2464092, 0361 – 2464096, 8811021843, 9434916386, 8811019808